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Decimals by Whole Numbers: S3

Rick jogged 2.2 miles, while Morty jogged 3 times more distance than Rick.

Find the distance covered by Morty.

A basket has potatoes weighing 40.8 lbs. If there are 4 such baskets, how much

does the potatoes weigh in total? 

The cost of a school lunch is an average of   2.57 per day. Find the cost of the 

lunch for 20 days.

Chelsea drives to work 5 days a week. She drives about 21.3 miles per day.

How many miles does Chelsea drive a week?
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Meghan needs cheese sauce for her snack. She purchased two boxes, each box

containing twelve pouches of cheese sauce. If one box cost   39.36, how much 

did Meghan pay in total?
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